BRISE~ [CRHHEERNAE KEHHER

SHITEI2A1B FEEXE

*Jiﬁ BT BHE 23 BE B=E
E€::
L [EL) [ELY)] =5 =8 Bk

X ER —%Biﬁw—% 1W |3~ |[1~|18| 1w 18 | 1w 6 18| 1W |3~6|1~2[ 18 | 1W 18
[ &R BiE| " |4aE | Lt |6B [ 28 |kE| UL K| ULk X LE| B | B |R#E UL Kb
FE., BEH.
INFR 51 8 10 1 2 1 1
(56. 69%)
Ml - ER. B
F. EEILE 50 4 4 1
(56.5%)
mE. BE-K
BHiE WME. & | 30 13 1901 [11 | 4] 4|1 5 | 2 4 (1| 1| 1] 21 1
B (67.4%)
WK, =&, %
F-R&E, ®Hib
PN 36 13 9 [ 3 [12|10]| 7| 2 5 | 2 32| 4| 4| 3] 4 1
(69. 5%)
&t
(62, 496) 167 38| 0 |42 | 4 |23 |15| 14| 3 1| 4 7 3| 5 5 6 | 5 2
10A258 EBRAANSIZEELEAMIZK 2 2KEERNAE

-2 K&z BE

=K | KRTFEK FRERK | KT
wmEHH 3 114 14




